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ÍÛæ̃ Û¶ÛÛ : (1) þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé.  

  (2) ›÷ÄõÁõ ›÷̈ ÛÛýÛ ©ýÛÛ× ÍÈÛ˜™ö …ÛïèõÜ©Û þùÛéÁõÛé.  

  (3) ¸ÛÁõà“ÛÛ¬Ûâ…Ûé ºõî©Û ïõÛé©ÛÁéõÅÛÛ ¶ÛïõÉÛÛ¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÉÛé. 

 

1. ÈÛÛ©ÛÛÈÛÁõ¨Û …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà Í©ÛÁõÁõ˜Û¶ÛÛ ÍÛ¾Û›ÛÈÛÛé.  14 

    …¬ÛÈÛÛ 

 ÈÛÛ©ÛÛÈÛÁõ¨ÛàýÛ …Û¸ÛÜ«Û…Ûé …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ¸ÛóïõÛÁõÛé ÜÈÛÌÛé ÜÈÛÍ©Ûè©Û¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.  

 

2. ÈÛÛ©ÛÛÈÛÁõ¨ÛàýÛ …Û¸ÛÜ«Û…Ûé¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ÍÛ¾Û›ÛÈÛÛé.  14 

     …¬ÛÈÛÛ 

 ÐüÜÁõïéõ¶Û …¶Ûé ¤øÛˆºæõ¶Û¶ÛÛé ŠþÕù½ÛÈÛ, ÜÈÛïõÛÍÛ …¶Ûé ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ÍÛ¾Û›ÛÈÛÛé.  

 

3. •ÛÛ›÷ÈÛà›÷¶ÛÛ ©ÛÛéºõÛ¶ÛÛé ÜÈÛÌÛé ÜÈÛ•Û©Ûé ¾ÛÛÜÐü©Ûà …Û¸ÛÛé. 14 

     …¬ÛÈÛÛ 

 ¤øÛé¶Ûë¦øÛé¶ÛÛé ŠþÕù½ÛÈÛ, ÜÈÛïõÛÍÛ …¶Ûé …ÍÛÁõÛé ÍÛ¾Û›ÛÈÛÛé.  

 

4. ¸ÛæÁõ …é¤øÅÛé ÉÛä× ? ¸ÛæÁõ …ÛÈÛÈÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé ÍÛ¾Û›ÛÈÛÛé.  14 

    …¬ÛÈÛÛ 

 þäùÌïõÛÇ …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà ÍÛÛ¾ÛÛÜ›÷ïõ-…ÛÜ¬ÛÙïõ …ÍÛÁõÛé ÜÈÛÌÛé ÜÈÛ•Û©Ûé ÍÛ¾Û›ÛÈÛÛé.  
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5. (A) ›Ûé¦øïõÛ× ›Ûé¦øÛé : 7  

(1) …ÛñÍ¤ÖéøÜÅÛýÛÛ  – ÐüÜÁõïéõ¶Û 

(2) ÜÈÛÊÈÛ¶ÛÛé ÍÛÛíé¬Ûà ÈÛµÛä þäùÌïõÛÇ ¸ÛàÜ¦ø©Û ¸ÛóþéùÉÛ – UP, Ü¼ÛÐüÛÁõ 

(3) ÜºõÜÅÛ¸ÛÛˆ¶ÍÛ  – ÍÛä̧ ÛÁõ ˜Û’õÈÛÛ©Û  

(4) ÜÈÛÊÈÛ¶Ûä× ÍÛÛíé¬Ûà ÈÛµÛä ÉÛÜî©ÛÉÛÛÇà ©ÛÛéºõÛ¶Û – †Ü¬ÛýÛÛéÜ¸ÛýÛÛ  

(5) ÈÛéÍ¤ø ˆÜ¶¦ø¡ö – ¤øÛˆºæõ¶Û 

(6) ½ÛÛÁõ©Û¾ÛÛ× ÍÛÛíé¬Ûà ÈÛµÛä ¸ÛæÁõ¬Ûà …ÍÛÁõ•ÛóÍ©Û ¸ÛóþéùÉÛ  – ¤øÛé¶Ûë¦øÛé 

(7) …ÛéÜÁõÍÍÛÛ – ÜÈÛÜÅÛ-ÜÈÛÜÅÛ 

 

 (B) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ”ÛÛÅÛà ›÷•ýÛÛ ¸ÛæÁõÛé : 7 

  (1) ¼Ûé Ü½Û¶¶Û ¸ÛóïèõÜ©ÛÈÛÛÇÛ ÈÛÛýÛä ÍÛ¾Ûä̃ ˜ÛýÛ¶Ûé ›ä÷þùà ¸Û¦ø©Ûà ÍÛ¸ÛÛ¤øà¶Ûé _____ ïõÐéü ™öé.  

   (a) ÈÛÛ©ÛÛ•Ûó (b) ÈÛÛ©ÛÛÈÛÁõ¨Û (c) þù¼ÛÛ¨Û 

  (2) ÈÛÛ©ÛÛÈÛÁõ¨Û¶Ûà ¤æ×øïõÛ•ÛÛÇÛ¶Ûà ÍÛÁéõÁõÛÉÛ ¸ÛÜÁõÜÍ¬ÛÜ©Û¶Ûé _____ ïõÐéü ™öé.  

   (a) …Û¼ÛÛéÐüÈÛÛ  (b) ÐüÅÛïä×õ þù¼ÛÛ¨Û (c) ÐüÈÛÛ¾ÛÛ¶Û 

  (3) ÐüÈÛÛ¾ÛÛ¶Û¶Ûä× _____ ©ÛÛéºõÛ¶Û •ÛÇ¨Ûà …ÛïõÛÁõ¶Ûä× ÐüÛéýÛ ™öé.  

   (a) ÐüÜÁõïéõ¶Û (b) ¤øÛé¶Ûë¦øÛé (c) ÈÛ×¤øÛéÇ 

  (4) …Ü©ÛÈÛèÜÌ¤ø¬Ûà _____ ¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û ÍÛ›ÛÙýÛ ™öé.  

   (a) þäùÌïõÛÇ (b) ¸ÛæÁõ (c) ˜Û’õÈÛÛ©Û  

  (5) ½ÛÛÁõ©Û¾ÛÛ× _____ ÁõÛšýÛ¾ÛÛ× ÈÛÛþùÇÛé ºõÛ¤øÈÛÛ¶Ûà –Û¤ø¶ÛÛ …ÈÛÛÁ-õ¶ÛÈÛÛÁõ ¼Û¶Ûé ™öé.  

   (a) Š«ÛÁõÛ×̃ ÛÅÛ  (b) •Ûä›÷ÁõÛ©Û  (c) ÁõÛ›÷Í¬ÛÛ¶Û 

  (6) ½ÛÛÁõ©Û¾ÛÛ× ÐüÈÛÛ¾ÛÛ¶Û ”ÛÛ©ÛÛ¶Ûà ¾Ûä”ýÛ ïõ˜ÛéÁõà _____ ¾ÛÛ× …ÛÈÛéÅÛà ™öé.  

   (a) ¸Û¤ø¶ÛÛ (b) ¸ÛÛêÜ¦ø˜ÛéÁõà (c) ¸Ûæ¶ÛÛ  

  (7) ˜Û’õÈÛÛ©Û¶ÛÛ ïéõ¶®ù¾ÛÛ× ÐüÈÛÛ¶Ûä× þù¼ÛÛ¨Û _____ ÐüÛéýÛ ™öé.  

   (a) ÐüÅÛïä×õ (b) ½ÛÛÁéõ  (c) ¥×ø¦ä×ø  

_____________ 
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Instructions : (1) All questions carry equal marks. 

   (2) Draw neat diagrams where necessary. 

   (3) Candidates are allowed to utilize map stencils boundary only. 

 

1. What is Atmosphere ? Explain its structure. 14 

    OR 

 What are the atmospheric hazards’ ? Explain their types in detail. 

 

2. Explain the characteristics of atmospheric hazards. 14 

     OR 

 Explain the origin, development and characteristics of hurricane and typhoon. 

 

3. Give the information in detail about thunder storms. 14 

     OR 

 Explain the origin, development and effect of tornado. 

 

4. What is flood ? Explain the causes of flood. 14 

    OR 

 What is drought ? Explain the social and economic impacts of drought in detail. 
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5. (A) Match the following : 7  

(1) Australia – Hurricane 

(2) The world’s highest drought affected region – UP, Bihar  

(3) Philippines – Super Cyclone 

(4) The World’s highest energetic cyclone – Ethiopia 

(5) West Indies – Typhoon 

(6) The highest flood affected area in India – Tornado 

(7) Orissa – Willy Willy 

 

 (B) Choose the correct option and fill in the following blanks : 7 

  (1) The surface separating the two different types of air masses is called _____. 

   (a) Front (b) Atmosphere (c) Pressure 

  (2) The average short term situation of atmosphere is _____. 

   (a) climate (b) low pressure (c) weather 

  (3) The shape of atmospheric storm of _____ is like a funnel. 

   (a) Hurricane (b) Tornado (c) Cyclone 

  (4) The situation of _____ is caused by heavy rain. 

   (a) drought (b) flood (c) cyclone 

  (5) In India the phenomenon of cloud burst occurs frequently in _____. 

   (a) Uttaranchal (b) Gujarat (c) Rajasthan 

  (6) In India the main office of meteorological department is situated in _____. 

   (a) Patna (b) Pondicherry (c) Pune 

  (7) The pressure in the centre of cyclone is _____. 

   (a) low (b) high (c) cold 

_____________ 

 

 

   


